Partitive division with ratio/bar diagrams.
1. Draw a ratio/bar diagram for each of the problems, and multiply the appropriate numbers to find the solution.

A. I have 3/4 of a cup of chocolate chips.  That is 2/3 as much as I need to make a batch of cookies.  How many chips do I need to make a full batch of cookies?

B. Steve has 2 1/3 boxes of crackers.  The crackers weigh 1 1/2 pounds.  How much does one box of crackers weigh?

C. Peter has two hamsters: JoJo and Fuzzy.  JoJo weighs 3/4 as much as Fuzzy weighs.  If JoJo weighs 2/3 lb, how much does Fuzzy weigh? 

2. Interpret each of these as a partitive division problem (write out the sentence where you explain the interpretation), draw a ratio/bar diagram, and use multiplication to solve.  The first one has been started for you:

A. 
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   If 4/5 is distributed evenly to 3/8 of a set, how much is in a whole set?
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     If _____ is distributed evenly into _______ of a set, how much is in a whole set?
C. 
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